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1) on the graph

2) 2=1/2(3)+b, b=12
3) Y=12X+1/2

4 X-2Y=-1

#5,6
2-5 7
5) 2 (-4) -, 5 (see graph)
6) Y=-7T8X+D
. (-2)=-7/6(2) + b
-2=-14/6+b, b=1/3 (see graph)

7) Y=-TI6X+113
8) Y+78X=1/3, 7TX+6Y=2
9) (é?]=ﬂl‘l]+h

=8+0b, b=-6
Y=8X-6

10) (2)=3(1)+b

2-3=b, b=-1
=3X-1

11) (0)=-2(3)+b

0=-6+b, b=6

Y=-2X4+ 6

12) '3—'% ='—j . "%‘ 13} ;.m{"aﬁzhx +4

13) :: = j -—1—- 5,"""“’1?r4x+3s4
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16) 9_—;—?:%% EeE {sﬁlgﬁtﬂtgﬂ + 972

m 45 g Q60>
Y=-3/5X+61/5

11C

1) on the graph

2) (1)=1/4(-5)+b
1=-5/4+b, b=21/4

J) Y=1/4X+21/4,
2-2 0

E e mi)

X-4Y=-9

4)

(see graph)

3.1 4
5) (seegraph) (2)=0(1)+b, b=2

6) Y=2;, Y=2
&7 Y

7) onthe graph (slope must be -2)

8) 5)=§-I}+b. b=3
=-2X+3, 2X+¥=3

9) onthe graph (slope must be -1/3)
O SARXE Xy =6

11) distributive

12) commutalive

13) commutative

14) associatve
15) v9 =3
16) 45% =.45, .45x98 =44.10
1?} 5 bO‘)'E - i
1 gl 1
Sboys _ 5
e Glotal 6
5

19) ry =5+6=.83=83%

A
20) %xﬂﬂﬂboys

20) Y = 20(15) + 100,
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1) on the graph

2) (1)=-2/51)+b
1=225+b, b=125

3) Y=-2/5X+12/5 2X+5Y=7

2-4
3-(-1)

5) (seegraph) (2)=-1/2(3) + b,

6) Y=-12X+31/2, X4+2Y=7
5 Y

=2 .2 (see graph)

4
) 2

b=31/2

; \| 1

/.

&7
&4
7) onthe graph (slope must be -1/3)

8) (-3)=-13(3)+b, b=-2
=-13X-2, X+3Y=-6

9) onthe graph (slope must be -3/2)
10) (Y}'*WIEHIJ b=4

32X +4, 3X+2Y=8
1) true
12) false
13) laise
14) true
15) V49 =7
16) 16%=.16, .16x32=512
17) SEE:' -% 5+8=.625 = 62.5%
18) 33'5;9: 3 3+8s2.375=37.5%
19) .375 x 640 = 240 Eagle fans
ST .

Y =$400

ail - Vi suonnjog



